Module Name : English-E
Exam Date : 18-Feb-2022 Batch : 09:00-12:00

Sr. No. Question Body and Alternatives

! ! Spenser's Epithalamion was written for his wedding to his young bride Elizabeth Boyle. How many lines does

the poem consist of ?

A : 366

B : 365 — (Correct Alternative)

C:367

D : 368

Under which name did the collection of Wyatt, Surrey songs and Sonnets got published ?

A : Tatler

B : Tottel's Miscellany — (Correct Alternative)

C : The Spectator

D : Amoretti

How many books of "Faerie Queene" was supposed to be written by Spenser initially ?



A : Twenty

B : Two

C : Twelve — (Correct Alternative)

D : Thirteen

The virtue of adversity is

A : fortune

B : fortitude — (Correct Alternative)

C : truth

D : beauty

According to Bacon, 'Revenge' means

A : Vindictive

B : Tolerable

C : Ill-fated end



D : A Double risk — (Correct Alternative)

Name of the pastoral elegy, written on the death of Sir Philip Sidney is :

A : The Shepherd's Calendar

B : Amoretti

C : Tears of the Muses

D : Astrophel — (Correct Alternative)

In which book of "Paradise Lost", the following lines occur ?
"Who overcomes By force, hath overcome but half his foe"

A : Book IX

B : Book VI

C : Book I — (Correct Alternative)

D : Book XII

Who said Milton is "a sore, angry, intolerant and arrogant critic of women" ?

A : Sir Herbert Grierson — (Correct Alternative)
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B : George Herbert

C : Harold Bloom

D : John Bunyan

"The Ecstasie" is a lyrical poem which progogates the interconnection and mutual dependence of :

A : Mind and Soul

B : Only mind

C : Body and Soul — (Correct Alternative)

D : Only soul

"Close by those meads, for ever crown'd with flowers,
where Thames with pride surveys his rising towers",
the above lines are from :

A : On Mr. Gay

B : The Rape of the Lock — (Correct Alternative)

C : Ulyssess and his dog

D : Affiction
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lends the Baron the pair of scissors to cut off the converted lock of Belinda's hair.

A : Umbriel

B : Crispissa

C : Sir Plume

D : Clarissa — (Correct Alternative)

"Milton himself said that they were the work of his 'left hand'." What does 'they' refer to :

A : his epic

B : his prose — (Correct Alternative)

C : his sonnet

D : his masque

The theme of the poem "Ecstasy" is :

A : Killing of an insect

B : Consoling the poet's beloved who is mourning
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C : Reprimanding the sun for disturbing the lovers

D : The Union of two souls in love — (Correct Alternative)

Milton's literary work falls naturally into four well-marked periods. Identify the period to which "Paradise Lost"
falls.

A : The Journalistic period
B : The Cambridge period
C : The Last period — (Correct Alternative)

D : The Horton period

The tone of Dr. Johnson in "Life of Milton" is :

A : Sarcastic, tongue-in -cheek — (Correct Alternative)
B : Argumentative

C : Disparaging

D : Antagonistic

The theme of Milton's "Paradise Lost" is :
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A : Fall of Man — (Correct Alternative)

B : Futility of human existence

C : Conflict between good and evil

D : Beauty and manifestations of Nature

I.A. Richards frames that Wordsworth and Coleridge shared two attitudes to nature which he calls the 'Realist'
and

A : Pessimist

B : Creative

C : Idealist

D : Projective — (Correct Alternative)

What 1s the positive note with which the poem 'Ode on a Grecian Urn' ends ?

A : Beauty is truth, truth is beauty'. — (Correct Alternative)

B : Beauty is false

C : Truth is ugly
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D : Beauty and Truth are different

Wordsworth's "The Prelude" is a/an

A : Philosophical poem

B : Metaphysical poem

C : Autobiographical poem — (Correct Alternative)

D : Biographical poem

Elia is the pen name of

A : Wordsworth

B : Coleridge

C : Charles Lamb — (Correct Alternative)

D : Shelley

John Keats' famous line
'"Where are the songs of spring ? Ay, where are
they ?' is from the poem

A : Ode to Nightingale
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B : Ode to Melancholy

C : Ode to Autumn — (Correct Alternative)

D : Ode on a Grecian urn

'"Tradition and Individual Talent' advocates.

A : Impersonal theory — (Correct Alternative)

B : Practical criticism

C : Ambiguity

D : Subjectivity

The famous quote :
"Poetry is not a turning loose of emotion, but an escape from emotion, it is not the expression of personality, but
an escape from personality".

A : Tradition and the individual Talent — (Correct Alternative)

B : Purlock

C : The Perfect Critic
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D : The use of poetry and the use of criticism

The quote :

"Thou hast not lived, why should'st thou Perish, so ? Thou hadst one aim, one business, one desire ; Else wert
thou long since numbered with the dead !"

is given from

A : Thyrsis

B : The Scholar Gipsy — (Correct Alternative)

C : Growing old

D : Sohrab and Rustum

Stephen Coote in The Penguin Short History of English Literature says that these terrifying lines show "a godless
Victorian wasteland and . . . . . . a central Victorian moral dilemma". These terrifying lines occur in

A : Dover Beach — (Correct Alternative)
B : The Scholar Gipsy
C : Byzantium

D : Andrea Del Sarto

Who considered his criticism to be merely a 'by product' of his "private poetry-workshop".
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A : Matthew Arnold

B : I.A. Richards

C:FR. Leavis

D : T.S. Eliot — (Correct Alternative)

Hopkin's in "The wreck of the Deutschland" makes use of :

A : Blank Verse

B : Sprung Rhythm — (Correct Alternative)

C : Hyperbole

D : Similes

In "Macbeth", the scene in which the Scottish thanes discuss plans to join Malcolm, Siward, Macduff and their
forces may be described as

A : A unitary group scene — (Correct Alternative)

B : A two-part scene

C : A multipartite scene



29

30

31

29

30

31

D : A two-part unitary scene

The play "The Tempest" is indebted to several pamphlets about
A : New Guinea

B : Jackson Island

C : Milan

D : Bermuda — (Correct Alternative)

Which apparition says that Macbeth shall never be vanquished until Great Birnam Wood comes to the Dunsinane
hill ?

A : First apparition
B : Second apparition
C : Third apparition — (Correct Alternative)

D : All the given apparitions

"It is a tale told by an idiot, full of sound and fury signifying nothing" - these words are uttered by :

A : The Witches
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B : Lady Macbeth

C : Malcolm

D : Macbeth — (Correct Alternative)

Adrian : It must needs be of a subtle, tender, and delicate temperance.
Antonio : Temperance was a delicate wench.
Identify the pun from the above mentioned lines.

A : Temperance — (Correct Alternative)

B : Delicate

C : Wench

D : Subtle

In The Tempest, Ariel is a Hebrew name, which means

A : lion of god — (Correct Alternative)

B : beauty

C : king
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D : lone and nature

Religions and political hypocrisy, brutality and sentimentality, greed and deception are all exposed by whose
vision in The Adventure of Huckleberry Finn ?

A : Head's

B : Tail's

C : Cairo's

D : Huck's — (Correct Alternative)

The poem out of the Cradle Endlessly Rocking implies that death is only a natural transition to
A : suffering

B : re-birth — (Correct Alternative)

C:end

D : death

Who among the following character in Hemming way's "The Old Man in the Sea" often wonders which is better,
luck or precision and even considers buying luck if possible as a commodity in a shop ?

A : Manolin
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B : Santiago — (Correct Alternative)

C : Fisher Folk

D : Manolin's Parents

Who has been called the greatest of American Humorists and the "Lincoln of our literature " ?

A : Earnest Hemingway

B : Mark Twain — (Correct Alternative)

C : Hart Crane

D : Melville

How does Whitman Visualise the new nation in his "Passage to India" ?

A : It will combine the intellectual vigor of the west and the spirituality of the east — (Correct Alternative)

B : It will inherit only the physical vigor of the west

C : It will have only the mystical wisdom of the east

D : It will rely only on myths and legends
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Thought the Paraclete' is a :

A : Scientific poem

B : Mystic poem — (Correct Alternative)

C : Adventure poem

D : Psychological poem

A Handful of Rice' is about :

A : Agriculture

B : Human struggle for survival — (Correct Alternative)

C : Land Reform Acts

D : Proper eating habits

Larins Sahib' is based on :

A : the political events in Punjab during 1846-47 — (Correct Alternative)

B : the turmoil in Kashmir in 1946

C : the social upheaval in Ladak in 1945
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D : India's freedom struggle

Kamala Markandaya's novel 'Nectar in a Sieve' is the best example of her deft handling of the
A : Socio-economic colour — (Correct Alternative)

B : Psychological aspects

C : Philosophical tone

D : Domestic aspects

Tagore has launched an eloquent protest against in his play "Mukta-Dhara".
A : Indian tradition

B : On slaught of machinery on man's individual freedom — (Correct Alternative)

C : Indian culture

D : British dominance

Who among the following uttered these words to Mohammed Bin Tughlaq... "God has given you everything -
power, learning, intelligence talent but you are trying to become another God" ?
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A : Zia-ud-din Barani

B : Sheikh Imamudin

C : Sheikh Shihab-ud-din — (Correct Alternative)

D : Ain-ul-mulk

Avant-garde movement is a :

A : Renaissance movement

B : Restoration movement

C : Racial movement

D : Revolutionary art movement — (Correct Alternative)

Attending primarily to the historical and cultural conditions of the production of a literary text, its meanings, its
effects and also of its later critical interpretations and evaluations is the chief concern of

A : New critics

B : Deconstructionists

C : New historicists — (Correct Alternative)
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D : Structuralists

The modernist epic "A Scots Quair" by Lewis Grassic Gibbon presents the life of its female protagonist named "

A : Scott Howe
B : Grey Finn
C : Jean Guthrie

D : Chris Guthrie — (Correct Alternative)

can be regarded as a second and greater Renaissance, a rebirth of the moral nature of man.
A : The Age of Modernism
B : The Age of Neo-classicism
C : The Romantic movement

D : The Puritan movement — (Correct Alternative)

Which pair of novelists were born in the same year and died in the same year ?

A : D.H. Lawrence and George Orwell
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B : Virginia Woolf and James Joyce — (Correct Alternative)
C : E.M. Forster and H.G. Wells

D : Dorothy Richardson and Aldous Huxley

Name the founder of modern linguistics and structuralism.
A : Ferdinand de Saussure — (Correct Alternative)

B : Roland Barthes

C : Raymond Williams

D : Terry Eagleton

During Shakespeare's time "Nice" meant
A : Great

B : Flat

C : Foolish — (Correct Alternative)

D : Grim



53

54

53

54

The compound participle was used in Shakespeare's works only times.

A : Seven

B : Eleven

C : Five

D : Three — (Correct Alternative)

The American word 'Copucetic' means

A : Conciliatory

B : retaliatory

C : inflammatory

D : satisfactory — (Correct Alternative)

During the Middle English period, English and

A : Persian

B : Roman

C : Celtic

in British English.

were spoken side by side.
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D : French — (Correct Alternative)

The ding-dong theory is usually associated with the name of the eminent German scholar and philologist.

A : Wilhelm Wundt

B : Richard Paget

C : Max Muller — (Correct Alternative)

D : Sir Percy Nunn

'A flashing eye' becomes 'a flashing guy'. It is an example of :

A : By Syncopation

B : By Telescoping

C : By the addition of suffixes or prefixes

D : By Metanalysis — (Correct Alternative)

What does Wordsworth say about "Images and Sentiments" ?

A : Spontaneous overflow of powerful feelings
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B : Purely decorative

C : Should be "Wedded" naturally in the mind — (Correct Alternative)

D : Diagonal Distinction

Eliot pleads for a reintegration of the following in poetry :

A : Thought and Feeling — (Correct Alternative)

B : Thought and Expression

C : Thought and Tone

D : Thought and Intention

In 'Essay of Dramatic Poesy' Dryden's Pseudonym is

A : Eugenius

B : Crites

C : Lisideius

D : Neander — (Correct Alternative)
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Keats compares human life to a large mansion of many

A : Compartments

B : Corridors

C : Apartments — (Correct Alternative)

D : Storeys

The term 'Mimesis' refers to

A : Imagination

B : Imitation — (Correct Alternative)

C : Fiction

D : Diction

Who said, "Poetry comes not as naturally as the leaves to a tree, it had better not come at all" ?

A : Keats — (Correct Alternative)

B : Shelley

C: T.S. Eliot
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D : F.R. Leavis

had made blank verse supreme in drama.

A : Shakespeare

B : Seneca

C : Marlowe — (Correct Alternative)

D : Ben Jonson

Faustus curses for depriving him the joys of heaven.

A : Mephistophilis

B : Beelzebub

C : Lucifer — (Correct Alternative)

D : Devil

Sir Epicure Mammon complains that thieves had picked his purse of

A : eight score and ten pounds — (Correct Alternative)



66

67

66

67

B : nine score and ten pounds

C : ten score and ten pounds

D : seven score and ten pounds

The Spanish Tragedy is a continuation of the story of :

A : Jeronima — (Correct Alternative)

B : The White Devil

C : The Duchess of Malfi

D : Cornelia

Who speaks the following in the play 7he Alchemist ?
"This lip, that chin! Me thinks you doe resemble
One o' the Austriack Princes"

A : Lovewit

B : Ananias

C : Face — (Correct Alternative)

D : Doll Common
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Bunyan's 'The Pilgrim's Progress' falls under the product of :

A : Restoration

B : Renaissance

C : Puritanism — (Correct Alternative)

D : Romanticism

How many poems of Wordsworth are included in the "Lyrical Ballads" ?

A : 19 — (Correct Alternative)

B:17

C:12

Rebecca, who falls in love with the hero, is the heroine of the play

A : Quentin Durward

B : Ivanhoe — (Correct Alternative)

by Scott.
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C : Bride of the Lammermoore

D : Kenilworth

Who is the narrator of "Wuthering Heights' the novel written by Emily Bronte ?
A : Mrs. Ellen — (Correct Alternative)

B : Heathcliff

C : Linton

D : Catherine

"Wuthering Heights is one of those isolated books which. Whatever their merits, are rather ornaments than
essential parts in novel history", who said ?

A : The American Novel, by George Saintsbury (1913)
B : The African Novel, by George Saintsbury (1914)
C : The English Novel, by George Saintsbury (1916)

D : The English Novel, by George Saintsbury (1913) — (Correct Alternative)

How does Shelley define poetry ?
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A : Expression of powerful feelings

B : Expression of overflowing thoughts

C : Expression of sad emotions

D : Expression of the imagination — (Correct Alternative)

In 'Preface to the Lyrical Ballads', Wordsworth defines poetry as

A : emotion recollected in sadness

B : emotion recollected in tranquility — (Correct Alternative)

C : feelings expressed in happiness

D : sweetness of emotions

The polarity of man and woman in "To the Lighthouse" is governed by the theological metaphor of

A : The fall — (Correct Alternative)

B : The rise

C : The Birth
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D : The Death

"By swaggering could I never thrive, For the rain it raineth everyday."
These lines from "Twelfth Night" occurs in the novel

A : MiddleMarch — (Correct Alternative)
B : Vanity Fair
C : Our Mutual Friend

D : Far from the Madding Crowd

Which among the following is antithetical and complementary to 7ess of the d'Urbervilles ?
A : Jude the Obscure — (Correct Alternative)

B : The Poor Man and the Lady

C : Desperate Remedies

D : Under the Greenwood Tree

Who utters the last lines of the novel "Jude the Obscure" ?

A : Arabella — (Correct Alternative)
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B : Sue

C : Jude

D : Thomas Hardy

The pair of eyes that is fixed on Pip much more than any other pair" is that of :

A : Magwitch — (Correct Alternative)

B : Mr. Pumplechook

C : Herbert

D : Joe

Which one of the following titles of Shakespeare's plays has a connection with Christ's Sermon on the Mount ?

A : Henry - IV Part |

B : Antony and Cleopatra

C : Measure for Measure — (Correct Alternative)

D : The Tempest
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Who uttered the following lines from Henry IV, Part - 1 ?
"Come, my masters, let us equally distribute the loot and then mount our horses before it is day".

A : Hotspur

B : Prince Henry

C : Poins

D : Falstaff — (Correct Alternative)

"Age cannot wither her, ....'
Who describes the grandeur of Cleopatra ?

A : Domitius Enobarbus — (Correct Alternative)

B : Agrippa

C : Demetrius

D : Antony

Name the follower of Caesar in the below list given :

A : Proculeius — (Correct Alternative)

B : Menecrates
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C : Menas

D : Varrius

In which Sonnet does Shakespeare reveals his beloved that he loves her in spite of his five wits and his five
senses ?

A : Sonnet 132
B : Sonnet 140
C : Sonnet 143

D : Sonnet 141 — (Correct Alternative)

Who called Thoreau as , " a sort of wise, wild beast" ?
A : Emerson

B : Sanborn — (Correct Alternative)

C : Brown

D : Jeffery

Which Author's Nobel Prize Speech is very famous?
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A : Thackerey

B : Faulkner — (Correct Alternative)

C : Anita Desai

D : Mulk Raj Anand

Emerson in " The American Scholar " calls " Genius is always sufficiently the enemy of the Genius". Because
of

A : Subordination

B : blind adherence

C : custom

D : over influence — (Correct Alternative)

Who is Zybszko in '"The Hairy Ape' ?

A : Heavy weight wrestler — (Correct Alternative)

B : Fighter

C : Cricketer
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D : Writer

Who is called as "the father of American Transcendentalism ?

A : Thoreau

B : Emerson — (Correct Alternative)

C : Hawthorne

D : Walt Whitman

In which prose work does these lines appear ? "Your lives are mean because you do not know what is worth
having in life or how to get it" ?

A : Walden — (Correct Alternative)

B : The American Scholar

C : Nobel Prize Acceptance Speech

D : The Owl in The Attic

The repetition of the words ,'dark’, 'light' and 'red' in "The Telephone Conversation' signifies.

A : The importance of colours in human life
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B : Traffic signals

C : The lady's liking for colours

D : Racism — (Correct Alternative)

The two distinct features of Australian Poems are

A : ironic and homorous

B : Satiric and serious

C : dialogic and homorous

D : ironic and dialogic — (Correct Alternative)

Which tree gives an opulent and dominant appearance to the village centre in soyinka's 'The Lion and the Jewel ?

A : Odan tree — (Correct Alternative)

B : Red wood tree

C : Teak tree

D : Tamarind tree
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Which element testifies the endurance of human experience and the richness of human culture in A.D. Hope's
poems ?

A : Nature

B : Myth — (Correct Alternative)

C : Archetypes

D : Supernatural

Who among the following insults Sidi as a "bush girl" ?

A : Baroka

B : Sadiku

C : Lakunle — (Correct Alternative)

D : The Stranger

Which of the following feminist works analyses western social arrangements and institutions as Covert ways of
manipulating power in order to establish and perpetuate the dominance of men and the subordination of women ?

A : Kate Millett's sexual politics — (Correct Alternative)

B : Edward W. Said's Culture and Imperialsim
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C : Terry Eagleton's Marxism and Literary Criticism

D : Frederick J. Hoffman's Freudianism and the Literary Mind

Who of the following theorists calls attention to the idea of power, the nature of power relations, the forms of
power, the channels of power and the discourses where power permeates ?

A : Roland Barthes

B : Jacques Lacan

C : Michel Foucault — (Correct Alternative)

D : Jean Baudrillard

The journalism that involves analytical interpretation, investigation, constructive criticism and sincere
association with the grassroots is called " e

A : Forensic journalism

B : Cybernetic journalism

C : Keyhole journalism

D : Alternative journalism — (Correct Alternative)
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Anita Brookner has described her own fiction as :

A : behavioural patterns of scores

B : a little exercise in self-analysis — (Correct Alternative)
C : juxtaposition

D : thematic preoccupations

The book 'orientalism' was written by :

A : Dipesh Chakrabarty

B : Edward Said — (Correct Alternative)

C : Partha Chatterjee

D : Ranajit Guha

The Prosodic Theory of Phonology is associated with the
A : Prague School of Linguistics
B : Harold Palmer

C : London School of Linguistics — (Correct Alternative)



D : Bloomfield

102|102 The distribution of is handled directly by syntactic rules.
A : phonemes
B : grammatical morphemes — (Correct Alternative)
C : taxemes
D : spelling

103 (103 Who defined that an act of speech is an "Utterance" ?

A : Bloomfield — (Correct Alternative)
B : Saussure

C : Cleanth Brooks

D : Chomsky

104|104 Choose the right combination for the expression 'Set out'.

A : noun-adjective combination



B : noun-verb combination

C : verb-adjunct combination

D : verb-adverb combination — (Correct Alternative)

10511105 Linguistics may be defined as :
A : the study of language
B : the study of grammar
C : the scientific study of language — (Correct Alternative)
D : the scientific study of grammar
106 | 106

Who said the following lines ?

Art deals not with the real but with the conceivable, and literary criticism, though it will eventually have to have
some theory of conceivability,

Can never be justified in trying to develop, much less assume, any theory of actuality.

A : Northrop Frye — (Correct Alternative)

B : I.A. Richards

C : William Empson



D : Cleanth Brooks

10711107 Which one of the following is the view on criticism by Northrop Frye ?
A : Criticism as an Art is totally intelligible
B : Criticism as a Science is totally unintelligible
C : Criticism as an Art is totally unintelligible

D : Criticism as a Science is totally intelligible — (Correct Alternative)

108 /108 According to Allen Tate the meaning of good poetry, "is its , the full organized body of all the
extension and intension that we can find in it."

A : Confusion — (Correct Alternative)
B : Stress
C : Tension

D : Depression

10911109 According to L. Trilling, the New Critics exercised their early characteristic method almost exclusively upon

A : drama
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B : novel
C : prose

D : lyric poetry — (Correct Alternative)

According to Allen Tate, which of the following statements are true ?
(1) "The Vine" is a failure in connotation

(i1) "Hymn : To Light" is a failure in denotation

(111) "The Vine" is a failure in denotation

(iv) "Hymn : To Light" is a failure in connotation

A : (1) and (i1)
B : (i) and (ii1)
C : (ii1) and (iv) — (Correct Alternative)

D : (iv) and (1)

The Right of Children to Free and Compulsory Education Act, was passed by the Indian parliament on

A : 4 August, 2009 — (Correct Alternative)

B : 14 July, 2009



C : 5 September, 2005

D : 6 August, 2010

1z iz The changes in one's behaviour and personality implier :

A : Growth and Development — (Correct Alternative)

B : Growth

C : Integration and Skill

D : Development

133 The factor influences the height, colour of the eye and the skin was :

A : Biological Factor

B : Heridity Factor — (Correct Alternative)

C : Emotional Factor

D : Social Factor

14 |14 Which of the following scale 1s also known as equal - appearing interval scale ?



A : Likert Scale

B : Thurstone's Scale — (Correct Alternative)

C : Rating Scale

D : Attitude Scale

s s Who is considered the founder and spiritual leader of the humanistic psychology movement ?

A : Kelly

B : Roger

C : Abraham Maslow — (Correct Alternative)

D : Skinner

116 i16 The Spread of international understanding through the medium of Education in every part of the world was

dedicated by :

A : UNICEF

B : WHO

C : NAEP



D : UNESCO — (Correct Alternative)

77 behavior are internalized and converted gradually into cognitive schemes.

A : Adjustment

B : Reflex — (Correct Alternative)

C : Discriminate

D : Motivational

118 118 Who wrote the book "The Secret of Childhood" ?

A : Tagore

B : Gandhi

C : Maria Montessori — (Correct Alternative)

D : Vivekananda

1y 1o 'Operation Blackboard' Programme is :

A : Teacher - centred approach
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B : Child centred approach — (Correct Alternative)

C : Meant for higher education

D : Meant for vocational education

Purpose for giving Autonomy to the institutions is :

A : to give freedom to the institutions

B : to promote higher education

C : to promote innovations and experimentation — (Correct Alternative)

D : all the given options

District Primary Education Programme was started in :

A 1990

B : 1994 — (Correct Alternative)

C: 1996

D : 1998



According to Gardner the number of intelligences are :

A:S5

C : 7—(Correct Alternative)
D:8
123 123 The Article against untouchability is :
A : Article 28
B : Article 27
C : Article 17 — (Correct Alternative)

D : Article 16

124 1124 UGC was created by the recommendation of

A : Radha Krishnan Commission — (Correct Alternative)

B : Kothari Commission

C : Indian University Education Commission



D : Mishra Commission

1251125 Article 45 emphasises on :

A : Women Education
B : Education in mother tongue
C : Free and compulsory education — (Correct Alternative)

D : Adult Education

126 126 In the following which one is support and issue awards to adult education programme :
A : UNICEF
B : UNESCO — (Correct Alternative)
C : UNFPA

D : UGC

127127 The three basic types of learning style such as visual learning, aural learning and physical learning has been
identified by :

A : Ausubel



B : Reissman — (Correct Alternative)

C : Messick

D : Thorndike

128 128 The law of readiness, the law of effect and the law of exercise are propounded by :

A : Watson

B : Pavlov

C : Thorndike — (Correct Alternative)

D : Skinner

129 129 'Remembering the meanings of words' is an example for

A : Short-term memory

B : Sensory information storage

C : Long-term memory — (Correct Alternative)

D : Both Short-term memory and Sensory information storage



130 130 Who points out "the group process provides a sample of reality" ?

A : Gazda

B : Corey — (Correct Alternative)

C : Carkhuff

D : Corsini

131 1131 In how many languages MMPI was translated ?

A : More than 140 languages — (Correct Alternative)

B : More than 100 languages

C : More than 50 languages

D : More than 10 languages

132|132 Who is related to the system "Psychoanalysis" ?

A : Brady

B : Freud — (Correct Alternative)



C : Wundt

D : Correa

133|133 In which year World Conference on Education for all was conducted ?

A : 1990 — (Correct Alternative)

B : 1989

C:1992

D : 1993

134 134 What is the reason for Gender Inequalities in Indian Education System ?

A : Social - economic influences

B : Social - family influences

C : Social - religious influences

D : Social - cultural influences — (Correct Alternative)

135|133 Which technique is useful in reducing the frustration of physically challenged children ?



A : Ability grouping

B : Behaviour modification — (Correct Alternative)

C : Over protection

D : Acceleration

136 1136 Convergent thinking is the basis of intelligence whereas forms the basis of creativity.
A : Giftedness
B : Mental retardation
C : Learning disability
D : Divergent thinking — (Correct Alternative)
137 137

The modern day distance education has a philosophical perspective based on the model.

A : Indra Gandhi National Open University

B : Standford University

C : British Open University — (Correct Alternative)

D : Harward University



138138 Scope of Educational Technology is :

A : Curriculum Development

B : Developing learning environment

C : Both Curriculum Development and Developing learning environment — (Correct Alternative)

D : Promotes social development

1391139 The first school of the child is :

A : Kinder Garten

B : Family — (Correct Alternative)

C : Friends

D : Neighbours

140|140 Who said "Learning is a process of making a new or revised interpretation of an experience" ?

A : Knox

B : Zmeyov



C : Wiens
D : Mezirow — (Correct Alternative)

141 141
ldentify the one which is incorrectly matched :

Peaks Heights(m)
(a) Doddabetta - 2637
(b) Mukkuruthi - 2554
(c) Vembadisoldi - 2505
(d) Perumalmalai - 2019
A:(a)
B: (b)
C:(c)
D : (d) — (Correct Alternative)
142|142 In pallava period, the were variously termed as vari, aayam, kaanam, dandam, karai and kadamai in

different inscriptions.



143

144

143

144

A : Division of Lands — (Correct Alternative)

B : Punishment by government

C : Taxes

D : Committees of local panchayats

Major sugarcane - producing districts of Tamil Nadu :

A : Tiruvallur, Kancheepuram, Vellore — (Correct Alternative)

B : Tiruvallur, Kancheepuram, Madurai

C : Tiruvallur, Kancheepuram, Virudhunagar

D : Tiruvallur, Kancheepuram, Salem

Melpattu is the highest peak of :

A : Kalvarayan Hills

B : Javadhu Hills — (Correct Alternative)

C : Servarayan Hills

D : Kolli Hills



145|145 Which of the following has the lowest sex ratio in Tamil Nadu ?

A : Nilgiris

B : Salem

C : Dharmapuri — (Correct Alternative)

D : Madurai

146 146 Iron deposits are found in Kanjamalai region in district.

A : Erode

B : Salem — (Correct Alternative)

C : Tiruppur

D : Namakkal

147 ||147 FCI Means :

A : Food Council of India

B : Food Corporation of India — (Correct Alternative)



C : Federal Council of India

D : Foreign Council of India

143 148 Potato, Tomato, Cotton are examples of :

A : Critical day plants

B : Long day plants

C : Short day plants

D : Day neutral plants — (Correct Alternative)
149|149 A nucleoside will not have

A : Pentose sugar

B : Phosphate — (Correct Alternative)

C : Nitrogenous base

D : Purines
150|150 Indian geologists found hundreds of fossilized dinosaur eggs of Jurassic era in a small village is in

district.



A : Villupuram

B : Vellore

C : Ariyalur — (Correct Alternative)

D : Tirunelveli




